Directia/viteza vantului

23 24 25 26 21 28 29 30

0|ESE3 [V2 NE1 ENE2 |E1 V1 ENE1 [V0.3
il E5 NV2 NEO ESE2 |V2 V1 E2 V0.4
2|E4 NNV2 [SSEO [E2 NV1 V1 E1 &1
3|E3 NEO =l E3 NV1 NV1 ENE1 [E1
4|E3 VNV1 [E1 ESE2 [NV C |NNV1 [NEO ESEOQ.2
5|ENE3 |VNV1 [NE1 ESE2 [NV1 NV2 NE1 V0.4
6|ENE3 |V1 E1 ESE2 [VC NNE1 [NE2 E1
EIES V1 ENE1 |ESEZ |E1 ENE1 |E1 SEO.1
8|ES V1 = ESE2 |ENE1 |V1 S1 NNE1
SHES NNE1 [E1 ESE2,4 |E1 E1 E1 ENE1.1

10|ES NV2 E2 ESE2,8 [E1 ESE1 |[ENE1 [ENE1.1

11|ESE5 |[VNV1 |E1 ESE3.4 [NVO SSV2 |[ENE1 [SV0.6

12|ESES  |NV1 SE2 ESES3.4 |[NVO VSV1 |NV2

13|ESE3 |VNV1 |[SSV2 |E2.9 |VNV1 |SSVZ [VNV2

14|ESE3 |S3 S2 E24 |1 VSV2 |V2

15|ESE3 |SSV3 |SSE2 |E26 |V1 SSV1 [V3

16|ESE3 |SSV2 |SE2 E2 V2 SV1 V3

17|SE2 S2 SE2 Bl V2 V2 V4

18|VSV1 [S2 SE2 SSE1  |V2 V2 V3

19|VNV1 [SSV2 |SSE1 [NV1 VNV2 |ESE2 |V3

20(|V2 SSV1 [SSE2 |NV1 VNV2 [SE1 V2

21|VSV2 |[SSV1 |SSE1 [NV2 V1 N1 V2

22|V2 NE1 E1 NV2 V1 SSEO0  |V1

23|V2 NE1 E2 NNV2 V1 SE1 VNVO0.5




